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QUESTION 1

Which statement is true about the reporting capability within RTC?

A. RDDI is used for reporting across a project area in RTC.

B. RRDI is a cross-repository reporting server that can generate reports.
C. Document generation is provided upon login to RTC.

D. Reporting capabilities can be enabled from each user\\'s profile.

Correct Answer: B

QUESTION 2

Which three Reporting solutions are supported by CLM 2012? (Choose three.)
A. BIRT

B. RRDI

C. Open Reports

D. Crystal Reports

E. RRDG

Correct Answer:. ABE

QUESTION 3

When should a developer execute a personal build?
A. before the deliver action

B. before the checkin action

C. before the accept action

D. before the rebase action

E. before the checkout action

Correct Answer: A

QUESTION 4

Which ALM imperative helps improve the team dynamic and refine toward greater efficiencies?
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A. Real-time Planning

B. Lifecycle Traceability

C. In-context Collaboration

D. Continuous Process Improvement

Correct Answer: D

QUESTION 5

For which two purposes does CLM use absolute URIs? (Choose two.)
A. to locate clients attached to the server

B. to act as a stable resource identification for all applications

C. to act as a proxy for other systems

D. to permit consistent web access to stored artifacts

E. to reduce the size of any URL referencing stored artifacts

Correct Answer: BD
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